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RESUME
Balan Renata Kulukeevna

THERMODYNAMICAL ANALYSIS OF THE FIRE TREATMENT OF
DOMESTIC WASTE

For the scientific degree of the candidate of sgggc01.04.14 - Thermal
physics and theoretical heat engineering

Keywords: solid domestic waste, thermodynamical analysis,nibngg
gasification, adiabatic temperature, formation alptyp heat content of the
system, caloricity, heat of combustion, efficieriagtor.

The thermodynamical model of solid domestic waSBW) is created.
The model is based on grouping of components ofSB&V and using the
universal program of thermodynamical calculationsERRA. The
thermodynamical analysis of burning and gasificatod typical content of the
SDW of the Bishkek city is performed. The equilibmi concentrations at
adiabatic temperature are obtained.

The thermodynamical analysis of steam and steargexgasification of
carbon is performed. It was shown that the endotlzereaction charges at the
generation of combustible gases are not irretrievdhey transfer into caloricity
of the combustible gases.

The thermodynamical analysis of burning of silidanoxygen, nitrogen,
air is performed. The adiabatic temperature, theestd of reaction products, and
a part of the reacted silicon are determined.



